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 اختر الإجابة الصحيحة مما يلي:

1 
𝑓(𝑥)اذا كان   =  𝑥2  +  5𝑥 −  2 , 𝑔(𝑥)  =  3𝑥 – + 𝑓)فان    2   𝑔)(𝑥) :تساوي 

A 𝑥2 +  8𝑥 −  4 B 𝑥2 +  8𝑥 C 𝑥2 +  4𝑥 −  4 D 𝑥2 −  8𝑥 −  4 

 

2 

𝑓(𝑥)اذا كانت    =  𝑥2 –  5  , 𝑔(𝑥)  =  −𝑥 + · 𝑓)فإن   8   𝑔)(𝑥)     : تساوي 

A −𝑥3  +  8𝑥2  −  5𝑥 −  40 C 𝑥3   +  8𝑥2  +  5𝑥 −  40 

B −𝑥3   −  8𝑥2  +  5𝑥 −  40 D −𝑥3   +  8𝑥2 +  5𝑥 −  40 

 

3 
= 𝑓اذا كانت   {(2, 5), (6, 10) } , 𝑔 =  { (10, 13), (5,  تساوي :  𝑔 ° 𝑓فإن  {(8

A {(5, 8), (10, 13)} B {(2, 8), (10, 13)} C {(2, 8), (6, 13)} D {(5, 8), (6, 10)} 

 

4 
𝑓(𝑥)اذا كانت   =  2𝑥 −  5, 𝑔(𝑥)  =  4𝑥     فإن[ 𝑔 ° 𝑓 ](𝑥)  : تساوي 

A 8𝑥 +  20 B 8𝑥 −  5 C 8𝑥 +  5 D 8𝑥 −  20 

 

5 
𝑔 (𝑥)اذا كانت   =  −2 𝑥 +  1 , ℎ(𝑥)  =  𝑥2  +  6𝑥 +  تساوي :   𝑔[ℎ(3 )]فإن   8 

A 69 B −69 C 3 D −3 

 

 

   6 
𝑓(𝑥)اذا كانت   =  2𝑥 +  4  , 𝑔(𝑥)  =  𝑥2 +  تساوي :   (6)( 𝑓 ° 𝑔 )فإن قيمة   5

A 38 B 43 C 86 D 261 

 ) اختبر نفسك (  ورقة عمل 
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